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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Explain in brief why C is a middle level language.
Write any four keywords of C language.

Write basic data types of C language.

Write any four arithmetic operators of C language.
Write any four relational operators of C language.
What is file input output? Explain in brief.

Draw flow chart symbols.

What is structure? Explain structure with example.
Draw a flowchart to find area of a circle.

What is pointer? Explain initialization of pointer with suitable example.

Using any small program, explain structure of C program.
OR
List and explain features of C language in brief.
Write a program which reads radius of a circle and prints its area.
OR
Write a program which reads side of a square and prints its area.
Explain increment, decrement operator using example.
OR
Explain ternary operator using example.
What is type casting? Explain using example.
OR
For x=7, y=5 and z=4 show evaluation of logical expression:
x==5+2 && y>10|| z<5-1

Identify valid and invalid variables from these: max , sum, float
OR
Explain evaluation of expression: 10 + 6/2 -8 * 13 and write final answer.

Explain difference between prefix and postfix of ++ operator with example.

OR
Explain evaluation of expression: 5 + 15/3 -2 * 5 and write final answer.
Explain any four characteristics of higher level language.

OR

Explain switch case statement with example.

What is a one dimensional array? Explain with suitable example.
OR

Explain loop breaking statements break and continue with example.

Write a program to print minimum of two integers.
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OR
Write a program to print maximum of two integers.
Write a program to print whether character entered is digit or not.
OR
Write a program to print maximum out of three numbers.
Using while loop; write a program to print sum of first ten integer numbers.

Explain if else if else ladder statement using example.

Write a program to print sum of all digits of an unsigned integer number. i.e.

for number 5378 output of the program should be 23 (8+7+3+5)
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